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#include<iostream.h>
#include<conio.h>
const size=10:;

void read_array(int arr[]) Liphagatie s 5
{

for(int 1=0;i<size;l++)

{

cout<<"\n enter the element™:

cin>>arr|[i];}

}

void print_array(int arrf[]) gias pualic ol
{

for(int iI=0;i<size;i++)

cout<<" "<<arr]i;

}

void search_array(int arr[],int v) | e i ge ev
{ int 1,f=0;

for(i=0;i<size;i++)

iIf(arrfi]==v)
1=
if(f==1)

cout<<"\n found "<<v<<" In index "<<|+1;
else
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cout<<"\n not found "<<v;

}

void max_min(int arr{])

{int max,min;

max=arr[0],min=arr[0]; Lipian i jicaly 15 iy
for(int I=1;i<size;l++)

{ iIf(max<aurrli])

max=arr(i];

if(min>arr[i])

min=arr(i];

}

cout<<"\n max= "<<max;

cout<<"\n min="<<min;

}

void oppsit_array(int arr[])

{int1;

for(i=size-1;1>=0;i++) pr—
cout<<" ‘“<<arrli];}

void sort_array(int arr[])

{int 1,j,temp;

for(i=0;i<size-1;i++) ETp—
for(j=1+1;j<size;]++)

if(arr[i]>arr[j])

{temp=arr]i];

arr[i]=arr[j];



arr[j]l=temp;

}

cout<<"\n ok array sort";}
void sum_array(int arr[])

{int sum=0;

for(int I=0;i<size;l++) Ligican i1 palie) £ sana s
sum-+=arrlil;

cout<<"\n sum="<<sum;

}

void even_odd_print(int arr[])

{int1;

cout<<"\n even element ", Ligian 3 il o g patin) L

for(i=0;i<size;i++)

If(arr[i]%2==0)

cout<<" "<<arr]li];

cout<<"\n odd element ";
for(iI=0;i<size;I++)

iIf(arr[i]%2!=0)

cout<<" "<<arr|i];

}

void count_odd_even(int arr[])
{int count_odd=0,count_even=0;
for(int I=0;i<size;l++) a1 o\
{if(arr[i]%2==0)

count_even++;



else

count_odd++;}

cout<<"\n count even="<<count_even,
cout<<"\n count odd="<<count_odd,

}

void invert_array(int arrf])

{int I,temp,c=size-1,
for(iI=0;i<size/2;I1++) ligian jualic oo it
{temp=arr[i];

arr[i]=arr|c],

arr[c]=temp;

c=c-1;}

}

void search_and_count(int arr[],int v)
{int c=0,1;

for(iI=0;i<size;|++)

if(arr[i]::v) dighiaall 4 o ) ggdi o i g _pucrinl] dolibs pf juaric e )
{c++;}

1{{(e>40)

cout<<" v is found "<<v<<"and agian
="<<c;}

void print_element_count(int arrf])
for(i=0;i<size;I++)

{count=0;

for(j=0;j<size;]++)
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if(arr[i]==arr[j])
count++;
cout<<"\n"<<arrfil<<" count="<<count;

1}

void main()

{

clrscr(); il 15

Int x,m,y,l,j,array[size];

do

{

cout<<"\n 1:enter the element";
cout<<"\n 2:print array";

cout<<"\n 3:array search";

cout<<"\n 4:max and min the element";
cout<<"\n 5:oppsit array";

cout<<"\n 5:sort array";

cout<<"\n 6:sum array";

cout<<"\n 7:even and odd print";
cout<<"™\n 8:print even and odd count";
cout<<"\n 9:invert array";

cout<<"\n 10:searh and count";
cout<<"\n 11:print element and count";
cout<<"\n 12:exit";

cout<<"\n what is your next option ";
cin>>X;



switch(x)

{

case l:read array(array); break;
case 2:print_array(array);break;
case 3.

Inty;

cout<<"enter y";
cin>>y;search_array(array,y);break;
case 4:max_min(array);break;

case 5:oppsit_array(array);break;
case 6:sort_array(array);break;
case 7:sum_array(array);break;
case 8:even_odd_print(array);break;
case 9:count_odd_even(array);break;
case 10:invert_array(array);break;
case 11:int z;

cout<<"enter z";

cin>>z;
search_and_count(array,z);break;
case 12:print_element_count;break;
default :cout<<"\n error";
Hwhile(x!=12);

getch();

}
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#include<iostream.h>
const c=3,r=3;

{int 1,];

void print_prime(int arr[r][c])
{for(i=0;i<r;i++)
for(j=0;J<c;J++)

If(I==))

cout<<" "<<arr[i][j]<<"\t";

}

void print_secodary(int arr[r][c])

{int 1,J; n—
for(i=0;I<r;I++)

for(j=0;)<c;j++)

If(i+j==r-1)

cout<<" "<<arr[i][j]<<"\t";

}

void print_up_down_prime(int arr[r][c])

{
for(iI=0;i<r;i++)
{
for(J=0;j<c;j++)
if(i!=))

ﬁi—f}-ﬂjﬁf/ M’Jd}ﬂ.ﬁwf iﬁl,lé
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cout<<arr[iJ[j]<<" *;
else

cout<<™
cout<<"\n";}

}

void print_up_down_secondary(intarr(r][c])
{inti,j; o Al sal) Ty o5 _palin)] (o il
for(iI=0;i<r;i++)
{for(j=0;)<c;j++)
If(1+)!=2)
cout<<arr[ij[j]<<" ";
else

cout<<™
cout<<"\n";}

]

void swap_prime_secondary(int arr[r][c])
{int 1,X;

for(iI=0;I<r;i++)

{x=arr[i][1];

arr[i][i]=arr[i][r-1-1];

arrfi][r-1-1]=x;

}

} iy s ] i) i s Lol
void swap_prime_up_down(int arr[r][c])
{inti,x,];
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for(iI=0;i<r-1;i++)
for(J=1+1;)<c;J++)
{x=arr[i]i];
arr[ijj]=arrf] ]
arr[j][i]=x;

}

}

void swap_secondary up_down(int arr[r][c])
{int 1,x,];

for(i=r-1;i>0;i--)
for(j=c-1;}>0;}--)
if(i+j>r-1)
{x=arr[i]j;

arr[i][j]=arr[r-1-i][c-1-]];
arr[r-1-i][c-1-]]=X;
}

} il il Ciady (g paliad] s Ll

void print_array(int arr[r][c]) Lpiiaal pualic 42t
{int 1,j;

for(1I=0;i<r;i++)

{cout<<"\n";

for(j=0;j<c;J++)

cout<<arr[i][j]l<<" ";}



void main() A
{int'y,alr][c];
for(i=0;i<r;I++)
for(j=0;j<c;j++)
cin>>ali][j];
do
{
cout<<"\n 1:print_prime";
cout<<"\n 2:print_secodary";
cout<<"\n 3:print_up_down_prime";
cout<<"\n
4:print_up_down_secondary";
cout<<"\n
5:swap_prime_dan_secondary";
cout<<"\n 6:swap_prime_up_down";
cout<<"\n
7:swap secondary up down";
cout<<"\n 8:print_array";
cout<<"\n 9:exit";
cout<<"\n what is next option ";
cin>>y,
switch(y)
{case 1:print_prime(a);break;
case 2:print_secodary(a);break;
case



3:print_up_down_prime(a);break;
case
4:print_up_down_secondary(a);break;
case
5:swap_prime_secondary(a);break;
case
6:swap_prime_up_down(a);break;
case
/:swap_secondary up_ down(a);break;
case 8:print_array(a);break;
case 9:.cout<<"\n exit prepared by an
hishame al-jhlany";break;
default:cout<<"\n error";

Hwhile(y!=9);}
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#include<iostream.h>  [FFTICNEPICER
#include<conio.h> Catall g ALY 4lany L)
const size=3;

void push(int stack]],int &top,int d)
{if(top==size-1)

cout<<"stacck fule";

else

stack[++top]=d;}

Int test(int top)

{if(top==-1)

return O;

else

return 1;}

Int pop(int stack[],int &top,int c)
{c=stack][top--];

return c;}

void max_value(int stack[],int top)

{int max;
max=stack|O0],
for(int iI=0;iI<=top;i++)
If(max<stack([i])
{max=stack]i];}
cout<<"the max value="<<max;}
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void main() Al Lo i
{clrscr();

Int s[size],top,d,c,X;

top=-1;

do{cout<<"\n 1:push"<<"\n 2:pop"<<"\n
3:max"<<"\n 4.exit"<<"\n what Is
opitio??\n";

cin>>x;

switch(x)

{case 1.cout<<"enter
value";cin>>d;push(s,top,d);break;
case 2:if(test(top)==0)
cout<<"stack empty";

else

cout<<" "<<pop(s,top,c);break;
case 3:if(test(top)==0)
cout<<"stack empty";

else

max_value(s,top);break;

case 4:.cout<<"exit\n";break;
default:cout<<"\nerror";break;}}
while(x!=4);}
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#include<iostream.h>

#include<conio.h> e
#include<stdlib.h>
const size=5;

void push(int s[],int &top,int X)
{if(top==size-1)

cout<<"stack full\n";

else

top++;

s[top]=x;}

Int te(int top)

{if(top==-1)

return O;

else

return 1;}

Int pop(int s[],int &top)

{return s[top--];}

void invert_stack(int s[],int m[],int y[],int
top,int topl,int top2)

{while(top>=0)
push(m,topl,pop(s,top));
while(top1>=0)
push(y,top2,pop(m,topl));
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while(top2>=0)
push(s,top,pop(y,top2));}
void print(int s[],int top)
{for(int I=0;iI<=top;I++)
cout<<" "<<sJi]<<"\n";}

void main() et te
{clrscr();

Int s[size],m[size],y[sIze];

Int top=-1;

Int top1=-1;

INnt top2=-1;

INt X,1I

do

{ cout<<"\n 1:push”<<"™\n 2:pop"
<<"\n 3:invert_stack"<<"\n
4:print"<<"\n 5 exit";

cout<<"\n chose number";
Cin>>X;

switch(x)

{case 1l:cout<<"enter I";
cin>>i;push(s,top,i);

break;



case 2.if(te(top)==0)
cout<<"stack empty";

else

cout<<”
"<<pop(s,top)<<"\n";break;
case
3:invert_stack(s,m,y,top,topl,top
2);break;

case 4:if(te(top)==0)
cout<<"stack empty";

print (s,top);break;

case 5:.cout<<"\nexit\n";break;
default:cout<<"eror\n";}}
while(x!=5);

getch();}



F ----------

I
| Sl _palie uset o ST 4 b(6) el i) [
=

#include<iostream.h>
#include<conio.h>
#include<stdlib.h>
const size=3;
void push(int s[],int &top,int X)
{if(top==size-1)
cout<<"stack full\n";
else
top++;
s[top]=x;}

Int test(int top)

{if(top==-1)

return O;

else

return 1;}

Int pop(int s[],int &top)

{return s[top--];}

void invert_stack(int s[],int m[],int y[],int
top,int topl,int top2)
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{while(top>=0)
m[++topl]=s[top--];
while(top1>=0)
y[++top2]=m[top1--];
while(top2>=0)
s[++top]=y[top2--]}
void print(int s[],int top)
{for(int i=0;i<=top;i++)
cout<<" "<<s[i]<<"\n";}

void main()

{clrscr();

Int s[size],m[size],y[size];
Int top=-1;

Int topl=-1;

Int top2=-1;

Int X,i;

do

{ cout<<™\n 1:push"<<"\n 2:pop"

<<"\n 3:invert_stack"<<"\n 4:print"<<"\n
5 exit";

cout<<"\n chose number";

Cin>>X;



switch(x)

{case 1l:cout<<"enter I";
cin>>1;push(s,top,i);

break;

case 2:if(test(top)==0)
cout<<"stack empty\n";

else

cout<<" "<<pop(s,top)<<"\n";break;
case
3:invert_stack(s,m,y,top,topl,top2);bre
ak;

case 4.if(test(top)==0)
cout<<"stack empty\n";

print (s,top);break;

case 5:cout<<"\nexit\n":break;
default:cout<<"eror\n";}}
while(x!=5);

getch();}



#include<iostream.h>
#include<conio.h>

const size=5;

void add_queue(int g[],int &r,int &f,int
X)

{

If(r==size-1)

cout<<"\nerror the queue is full";
else

q[++r]=X;

If(f==-1)

f=0; }

Int delet_queue(int g[],int &r,int &f)
{int X;

If(f==-1)

{ cout<<"errr the queue Is empty";
getch();

}

else{

x=q[f];

if(f==r)

{f=r=-1;}

else
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f++;}

return Xx;}

void count_celles(int r,int f)
{if(f==-1)

cout<<"gueue empty";

else

{cout<<"celles empty = " <<size+f-
(r+1)<<"\n";

cout<<"celles fule =" <<(r-f)+1;}}

void main()

{ Int queue|[size];clrscr();

Int rear=-1, front=-1, Xx,I;
do{

cout<<"\n 1:add_queue";
cout<<"\n 2:delete_queue";
cout<<"\n 3:count cellse";
cout<<"\n 4:exit":
cout<<"\n whate is option:";
CIN>>X;

switch(x)

{

case 1l:cout<<"\n enter the



element=";

cin>>i;
add_gueue(queue,rear,front,);
break;

case
2.delet_queue(queue,rear,front);
break;

case
3:count_celles(rear,front);break;
case 4:.cout<<"\n exit"; break;
default :cout<<"\n error";

}

twhile(x!=4);

getch(); }



r
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#include<iostream.h>
#include<conio.h>

const int s=3;

void cir_enqueue(int q[],int&f,int&r,int d)
{if((r+1)%s==f)

cout<<"queue full";

else{

If(r==-1)

f=0;

r=(r+1)%s;

q[r]=d;}}

Int test(int r)

{if(r==-1)

return O;

else

return 1;}

Int cir_dequeue(int g[],int&f,int&r)
{int x=q[f]; A _gilha) gl ciin Lilac
if(f==r)

f=r=-1;

else

f=(f+1)%s;

return x;}
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void print (int g[],int f,int r) A ) i Aol e

{if(r==-1)
cout<<"\nqueue empty";
else

for(int I=f;I<=r;i++)
cout<<q[i]<<" ";}

void search(int g[],int f,int r) = comlsdibme oo dadie
{if(r==-1)
cout<<"\nqueue empty";
else

{int s;

cout<<"enter s";

cin>>s;

while(r!=-1)

{int d;
d=cir_dequeue(q,f,r);
If(d==5s)

break;}}

If(r==-1)

cout<<"\nnot found ";
else

cout<<"\nfound";}

void main() il ple i
{clrscr();

int q[s],fr,re,d,x;



fr=re=-1;
do
{ cout<<"\n 1l:add"<<"\n 2:delet"<<"\n
3:print"<<"™\n 4:search"

<<"\n 5:exit"<<"\n what is your
opition???2\n";
cin>>x;
switch(x)
{case 1:.cout<<"\nenter
value\n";cin>>d;cir_engueue(q,fr,re,d);br
eak;
case 2:if(test(re)==0)
cout<<"\n gqueue empty";
else
cout<<" "<< cir_dequeue(q,fr,re);break;
case 3:if(test(re)==0)
cout<<"\nqueue empty";
else
print(q,fr,re);break;
case 4:.search(q,fr,re);break;
case 5:.cout<<"\ nexit";break;
default :cout<<"\nerror";}}
while(x!=5);
getch(); }



#include<iostream.h>
#include<conio.h>
#include<math.h>

const size=10;

void add(int gueue[],int &rear,int
&front,int x)

{

If(((rear+1)%size)==front)
cout<<"\nerror the queue is full";
else

{ rear=(rear+1)%size,
gueue[rear]=x;}
If(front==-1)front=0, }

Int delet(int queuel(],int &rear,int &front)
{int x=0;

If(front==-1)

{ cout<<"errr the queue is empty";
getch();

;

else{

X=queue][front];

gueue[front]=0;

If(front==rear)
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{front=rear=-1;}

else

front=(front+1)%size;}

return x; }

Int count_full(int rear,int front)

{int X;

x=(rear-front)+1,

return X;}

Int count_empty(int rear,int front)
{int X;

x=size+front-(rear+1);

return Xx;}

void marg(int queuel(],int &rearl,int
&frontl,int queue?2[],int &rear2,int
&front2)

{

If(count_full(rear2,front2)<=
count_empty(rearl,frontl))
while(front2 = -1)
add(queuel,rearl,frontl,delet(queue2,
rear2,front2));

else

cout<<" error "

}

void print(int queuel],int rear,int front)



{int I;

HUgelp==2xy

cout<<"\n empty";

else if(front<=rear)
for(i=front;i<=rear;i++)

cout<<" "<<queueli];

else

{for(i=front;i<size;i++)

cout<<" "<<queueli];
for(i=0;I<=rear;i++)

cout<<" "<<queue(i];}

}

void main()

{ int queuel[size],queue2[size];
Int rearl=-1,rear2=-1, frontl=-
1,front2=-1,y,X,i;
for(1=0;1<5;1++)
{add(queuel,rearl,frontl,i);
add(queue2,rear2,front2,i+5);}
marg(queuel,rearl,frontl,queue2,rear
2,front2);

cout<<"\n";

for(i=0;i<size;I++)

cout<<" "<<delet(queuel,rearl,frontl);
do{



cout<<"\n l:add";

cout<<"\n 2:.delete";

cout<<"\n 3:count_full";

cout<<"\n 4:count_empty";
cout<<"\n 5:marg";

cout<<"\n 6:print";

cout<<"\n 7:.exit";

cin>>x;

switch(x)

{

case 1: cout<<"\n enter 1 to queuel 2
to queue?2”;

cin>>y;

switch(y)

{

case 1:cout<<"\n enter the element”;
cin>>i;
add(queuel,rearl,frontl,i);break;
case 2.cout<<"\n enter the element”;
cin>>i;
add(queue2,rear2,front2,i);break;
default :cout<<" error";

}

break;

case 2.cout<<"\n enter 1 to queuel 2



to queue2”;

cin>>y;

switch(y)

{

case l:cout<<"
"<<delet(queuel,rearl,frontl);break;
case 2:.cout<<"
"<<delet(queue2,rear2,front2);break;
default :cout<<" error";

}

break;

case 3:.cout<<"\n enter 1 to queuel 2
to queue2”;

cin>>y;

switch(y)

{

case l:cout<<”
"<<count_full(rearl,frontl);break;
case 2:cout<<"
"<<count_full(rear2,front2);break;
default :cout<<" error";

}

break;

case 4:.cout<<"\n enter 1 to queuel 2
to queue2”;



cin>>y;

switch(y)

{

case l:.cout<<"
"<<count_empty(rearl,frontl);break;
case 2.cout<<"
"<<count_empty(rear2,front2);break;
default :cout<<" error";

tbreak;

case 5:cout<<"\n enter 1 to marg
queuel-2 or 2 to marg queue2-1";
cin>>y;

switch(y)

{

case
1:marg(queuel,rearl,frontl,queue2,re
ar2,front2); break;

case
2:marg(queue2,rear2,front2,queuel,re
arl,frontl); break;

default :cout<<" error";

toreak;

case 6:cout<<"\n enter 1 to queuel 2
to queue?2”;

cin>>y;



switch(y)

{

case
1:print(queuel,rearl,frontl);break;
case
2:print(queue2,rear2,front2);break;
default :cout<<" error";

tbreak;

case 7:cout<<"\n exit"; break;
default :cout<<"\n error";

}

getch();

clrscr();

while(x!=7);

getch();}




